Run 5342 quartetwise, posHQ: Beam DH

Run 5342 quartetwise, negHO: Beam DIN
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Run 5342 quartetwise, asymOsub: Beam ON
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-------- Histogram Vars

Positive Hel (ON): 16.126021 +/- 0.004855
Negative Hel (ON): 15.247036 +/- 0.004583
Positive Hel (OFF): 1.741114 +/- 0.001138
Negative Hel (OFF): 1.738801 +/- 0.001143
-------- Sums and Diffs

On Diff: 0.878984 +/- 0.002258

Off Diff: 0.002313 +/- 0.001405
On Sum: 31.373057 +/- 0.009167

Off Sum: 3.479915 +/- 0.001798
-------- Asymmetries
On Asym: 31.512562 +/- 0.081631 (ppt)
Off Asym: 0.082921 +/- 0.050354 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 27.893143 +/- 0.009342
BkSub Asym: 31.429641 +/- 0.095912 (ppt)
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asym (AccO) / ppt

Run 5342 quartetwise, posHO vs time Run 5342 quartetwise, negHO vs time

posHO
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